-1/ PART -1
ord substitute
Directions (1 - 2): Choofh;e. (?ne-v\ ord S
for each of the given definitions: "y

1.  Theschool or college in which oné

educated.

(1) Matinee

(2) Alma mater
«(3)  Alumni

(4) Commune

2. A woman whose husband is dead.
(1) Virgin
(2) Wedlock
(3) Spinster
4) Widow

Directions (3 - 4) : Choose the option which best
expresses the meaning of the given idiom/
phrase.

3.  To all intents and purposes :
(1) to realise one’s intents and purposes
(2) as far as intentions go
-(3) in all essential points
(4) intentionally and purposefully

4.  Backstairs influence :
(1) political influence
(2) ~monetary influence
-(3) unfair influence
(4) rightful influence

Directions (5 - 8) : Each of the sentep

ces oj
below has an error in it. Identify the part ‘Elh\;e;:
has the error. C

5. Pain caused by certain/

CE FOR Rougy WORK / T =1d & fog ST

8. Bom.in/a Hindu family/he followed/

(1) (2) 3)
all the traditions of one.
4)

Directions (9 - 10) : Choose the word from the
given options which best expresses the meaning
opposite to that of the underlined word.

9. Cordial :
(1) Friendly
(2) Inimical
(3) Cold
(4) Familiar
10. Retaliation :

(1) admonition
(2) disintegration
(3) retort

(4) reconciliation

1% &1 U @A qEre w1 wE o
GUCE
(1) TR S

2) afg @ SfawrasH we

3) TgTd ¥ Sfasmred HE

(
( -

PKD 16-1



12. Frefafas fawedi § 4 yg o9 _ | 17, freAfafEd @ & fou fag m defes
Bifen : gl y=i ° A IR v g
G D o 1 o o 3 I o e
(2) Fl’*m " "
(3) HI™
(2) IR
(-l) qJ94919
3) Ul
1. | HGH T B g (4) wfafaer
1 =
2 | - y &
18. ‘@R UFR WER F wALF €1 39 A
W fre YR &1 3Yfg €2
oo (1) T<HA Tl 19fs
14, ‘YeEfeAr ® FH-91 99E 2 ' (2) fomom geq sy
1) f&q (3) foran wwa=d syfe
(2) FHI @) H T s
3) =B |
sl 19. ‘wxda’ &1 faeim (faodads) w= g
15. frefafad faeed § 9 & = ‘aed’ &6l (1) A
TarEE (FAEYE) e 8, 39 BifeT ; @
(1) =™ 0
2) wEa :
(4) TS
(3) @’
(4) R .
- 20, frefafed # | foe 9 & T 7= T9H
16. Frefafad 4 9 ‘'WgqaE’ w8 F1 T 9 feim & €2
AL (1) o, T2, T
O (2) @@, 99, U
2 +
s (3) TR, YEH, BRI
(@) W+ HHE . :
4) TF: + q@ (4) e, U, B
'D/Page 3 SPACE FOR ROUGH WORK / T &t & fote we KD 3 L
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21.

22.

23.

24.

T - 11

yra ¥ T4 foen stfimm (vg.um.u, ) 1 gyuRy
Fa g7 o1 ?

(1) 2008

(2) 2006

(3) 2001

4) 2007

frerfafaa demsl § FR-0 ww 9o o=
[t gEml ¥ A T @ § 2
3 s 1 a 0 3 e
2, 5,10, 17, 26, 37, 50, 64
1) 17
2) 50
(3) 26
d) 64

T& Afed 10 km 8 #1 3R Fea 12 km
IW F AR AN €| IHF ARG T TG HIH
5 km ISa1 €| 319 9% Y97 ARFEF TWHE
fram g &2

(1) 13 km :

(2) 25km Al _W"
(3) 17 km A \6
(4) 27 km

vz GEIYE Greadl & ged § onihel #ia |
qftad] SHER & WY THH | s SHw
¥ dareE &1 98 i fSag faem feg o
T F1 o R S W, HEad €

TS

e Al
27 |ifd
Tt |ie

(1)
(2)
®)
(4)

21,

22.

23.

24.

PART - 1l
v SA
When was Sarva Ghiksha Abhivan (SSA)
launched in India ?
(1) 2008
(2) 2006
(3) 2001
(4) 2007

Which of the following numbers, does not
belong to the same category ?

2, 5,10, 17, 26, 37, 50, 64

1) 17

(2) 50

(3) 26

@) 64

A man walks 10 km towards East, then
12 km towards North; then he turns left
and walks 5 km. How far is he now from
his starting point ?

1) 13 km
2) 25km
3) 17 km
4) 27 km

In the context of word processing
software, the process of combining static
information in a publication together with
variable information in a data source to
create one merged publication is called :

(1) Merging

(2) Mail Merge

(3) Data Sourcing
(4) Merge Sort




25.

26.

27,

ST 2016 % STTER 38 F HA-11 famey
FIeRal S H! °ed %9 § gwiar § 2

(1) Tosirm, e, S
(2) T, Ag, fasiRe
(3) weE, e, s
4) ¥, fsiE, S

T TE F I8 Tl A - ¥ TF TR
71y faeman | $a fead 9 g1 fem m 2

1 14
(2) 28
(3) 16
4) 64

Top Seafen § gy Ty vy, Wl Y
%

(1) @€ arEe 93 3R TE TR F WA
{ s HAd TR SN &
HFfyma &1 womed &1

(2) @FE amE @ HN A HAF VIR F
Tl w1 ews & o ifew FeE
T g A Y T

(3) a7E AT a4 AN T€ T W F
uF Ag=E & foma Iwam =R F
wmiqgmﬁzw%ﬁm#ﬁﬁ
fFm &1

(4) A7 AT AA A T FAA 70
4

25.

26.

=Y.

Which of the following options depicts the
literacy rate of India in decreasing order
according to the Census 2016 ?

(1) Mizoram, Lakshadweep, Kerala
(2) Kerala, Lakshadweep, Mizoram
(3) Lakshadweep, Kerala, Mizoram

(4) Kerala, Mizoram, Lakshadweep

Eight members of a group shake hands
with one another once. How many
hand-shakes were done altogether ?

(1) 14
(2) 28
(3 16
(4) 64 ¥
(

In Computer Networking, WWW

means :
(1) World Wide Web and is a system of
interlinked hypertext documents

accessed via the Internet.

(2) World Wide Web and is a network of
various types of computers that are
physically connected to each other.

(3) World Wide Web and is a set of
protocols used to access documents
via the Internet.

(4) World Wide Web is just another
name for the Internet,



28.

29.

30.

fra § § - g, & A A T
T &2

2 | 8 | 4

125 | 25

[ 6 | 216 ] ?
1 29
(2) 33
(3) 30

4) 36

a1 1 Wi F A  w d 25% A
gfs Ft T qu IuF Fa § wfa =21 20% I
%1 ¢ ol 1 e o A S g ¢

(1) 25%
(2) 20%
(3) 5(1%
(4) 45%

—

g x=3+2V2, @ 1-2+...13$[‘q'r-[3{a

X
(1) 38
2) 36

(3} 34

@) 32

28. Whichof the following num

29,

30.

ompletes
bers comp 3

by 9
the given maltrix :

8 A
12_'_-':_ 25
216 ?
(1 29
2) 33
(3) 30
(4) 36

George’s working hours per day

-were

increased by 25% and his wages per hour
were increased by 20%. The daily earnings

of George is increased by :

(1)
@)
G)
4)

If v = 3+ 2V2 find the value of x? + . ;

(1)
(2)
(3)
(4)

25%
20%
50%

45%

X

38

34

32



31.

32.

33.

34.

freAfafaa & ¥ SH-91 FoF Iefos sty

Ty () & 9 H W 2

(1) ™ TR ¥ e vy 1z ¥

(2) T fasiell T i S € W F aiw
THTS & S § | ;

(3) ‘@ S &g el e (@i o

®BIE) B
frequ 1 TH 99§ 95d oA © fay
FIL RIS 1 STAN T Wefvra fay
1 Gl © |

(4)

feu Tu fawedi § & 97 ¥& fowew gfg s
TEm- STFH F g0 HOT |
rs 5o

5 1o 1S e

25, 100, 225, 400, .........., 900.
(1) 475

() 525

(3) 500

(4) 635

(1) U= =9

(2) FAHATATE MET

(3) =% wET

(4) TR

afz mF %2 W § PARK #1 RCTM e
= A4 CROP @1 ETQR 77 =3 A1 SHARP
7 T 32 v | @R v A smm 7

(1) UJCTIR
(2) RGBSO
(3) CJURT
(4) SRBGO

34.

31.

32.

33.

Which of the following statements about
Random Access Memory (RAM) is

True ?

(1) RAM s main circuit board for the
computer.

(2) RAM datais lost when electricity is
switched off.

(3) RAM is long-term storage for data.

(4) RAM converts the internal

representation of an image into
something that can be displayed

using a computer monitor.

Choose the correct alternative from the

given ones which will complete the

number - series.

25, 100, 225, 400, ... 900.
1) 475
(2) 525
@3) 500
(4) 625

Who is the author of the book “Fat City” ?

(1) Anna Sewell

(2) Leonard Gardner
(3) Ralph Ellison

(4) Allen Tate

If in a certain code language PARK is
written as RCTM and CROP is written as
ETQR, then how will SHARP be written
in that code language ?

(1) UJCTR
(2) RGBSO
(3) CJURT
(4) SRBGO




34,

36.

37.

gomE ¥ TF Fg T 9,800 § Wl F 10%
TR W == oI T A I T g A
i o I 10% T T A A A |
mﬁﬂ/mﬁﬁz

(1) @ T 98
() ®f 48
(3) 9 T 98
(4) T T 48

gy @ A o 20 S & fhgm § g
T F1 S wEw: 3: 2% @ W
10 fae fagw =1 o & 386 WA W
10 forex Y@ g4 oten T 7% YR & 9%
S F7 3 R ¥ T4 ¥R ¥ g H
@ﬁmﬂziuﬁaﬁwq&ﬁmﬁ@am
T 6T ST 1 T 2

(2) 17:3
(2} 523
3) 9:1

4) 3:14

frfafea 8 3 fFa g% =1 T v
AT E?

(1) FAfasaa &
(2) =TiE A% | fuw
(3) = wrH

(4) TR EEA

35.

36.

37.

an item for Z 9,800

Suleman purchased
the

and sold it at a loss of 10 per cent. For
ased another

His

amount received he purch
item and sold it at a gain of 10%.

overall gain or loss i :
(1) Loss of T 98
(2) Loss of X 48
(3) Gain of ¥ 98

(4) Gain of T 48

A 20 litre mixture contains milk and water
in the ratio of 3 : 2. If 10 litres of mixture is

removed and replaced with pure milk and

operation is repeated once more. At the
end of two removals and replacements,
what is the ratio of milk and water in the

-resultant mixture ?

Ay 1723
(2) D13
(2) 91t1
4) 3: 14

Which of the following books has been
authored by Arundhati Roy ?

(1) Invisible Man

(2)  The God of Small Things
(3) The Fathers

(4) Doll's House



38, FEHEIR TER@ERE § Feq Ty o5

39.

40.

fFar ST ¥ - T
(1) gﬁw@wq«m%w
|

() TS F TSR T A e g
w@%mwﬁmm
fmtor =55
} ITgFfa Fife F, T TE w6
3T HAT

(4) 9 FreTe & weft w et W v
foeie &)

320 "X T=ht Y@, 120 e/ wa w5t
ﬂf’ﬁ@f@ﬁmﬁﬁmﬂ?ﬁﬂmma
T Al I weEH H 4 e § Y| W
FX I 7| A @i wfa Hey/ A €

1) 2.4
2) 1.6
(3) 15
4) 2.0

A 991 B UEY U S I HHI: 10 T q
8% H W Hhd €1 Tl I Tk WY T
T | FT T ITEN UEY A A< R
T | G0 S A H el WA 65 I | Y

A7 fFa w2 =m faa?
i N

(1) 4?:;%

() 1%?.{%

B 25

W 3

38.

39.

In Microsoft PowerPoint, Format Painter
is used to :
(1) Paint pretty pictures on your slides.

(2) Change the background color of

slides and create uniform
appearance for all the slides.

(3) Copy formatting from one object or
piece of text and then apply it
elsewhere. |

(4) Delete all the slides in your

presentation in one go.

A ‘320‘ m long train moving at an average
speed of 120 km/h’ crosses a platform in

24 seconds. A man crossed the same
platform in 4 minutes. The speed of the

~ man in m/second is :

40.

(1) 2.4

(2 1.6

3) 15
4) 2.0

Pipes A and B can fill a tank in 10 and 8

hours respectively. Both were started

together. After certain time, pipe A was

closed. It took 6 hours to fill the tank.
completely. For how many hours did pipe
A work ? '

4—
(1) 4hrs
1
y P
() 15 hrs ,
3 25 -
(3) > \T'S ﬁ\’o
L TIRE
1
(4) 35 hus n



41.

42,

43.

Frer 1 & - 37— e fgenad, HRST e
ST ¥ gy i e €2

)

e
o (©

o o 1 et 196 37 AL &1 IHE e
& g9 Fi o 1 M ¥ | g9 R T

(1) 180 &AL,
(2) 190 9.H.
(@) 186 ..

4) 196 B.HI.

41.

42.

43.

Which of the following options shows the
correct hierarchy of most populated to least
populated countries of the world in 2016 ?
(1) China = Russia — India = Brazil

(2) China — India — Brazil = Russia
(3) China = [ndia — Russia — Brazil

(4) India = China — Russia — Brazil

ams indicates

Which of the following diagr
Mothers

the relationship among Women,

and Teachers ?

()

5 O
O

@ @

The area of a square is 196 sq. cm. Its side
is half the radius of a circle. The
circumference of the circle is equal to
breadth of a rectangle whose perimeter is
712 cm. What is the length of rectangle ?

(1) 180 cm

(2) 190 cm
(3) 186 cm
(4) 196 cm



(1)

3 qi g S

Ty U At
St 3 T
9 T it

45. 2539 HFIAR iR 1 a9 § -

(1)
()

(3)
(4)

U2 (BhA) 25 39 9l § |

et (fewat) %§25§‘33ﬁmm§-ﬂ
ITTH T

Y92 (BhiF) 25 39 FH=1 %
Y922 (BhiA) & ool 25 36 =1 8

46. A ° 9 =A-91 sFfa s 9= 9 fim §2

(1)

(2)

(3)

(4)

&

/&)
©
A\

44.

45.

46.

Which of the following is not an image file
format ?

(1)
(2)
(3)
(4)

JPEG
WAV

GIF

PNG

25 inch computer monitor implies

that :

(1)
(2)

(3)
(4)

the screen is 25 inches wide.

a circle of 25 inch diameter is

available for display.
the screen is 25 inches high.

the diagonal across the screen is
25 inches.

N

Which of the following figures is different
from the other three ?

(1)
(2)
(3)

(4)

o] [@ &> ®




47, SEAM E ARA BT ISR ASE fF A, D

48.

49,

& vd a1 B % wfvem W1 AR ¥ L, Z % T
I TN W <l iR &1 W farst off sf=m
BRTTE ¥ B ¥ S SR FH-A 2

(1) ATaL
(2) ZTWA .

(3) Lamw

(4) ATEW

9 1918 H W M H AT F §Y
"Ee T F R R e 12

(1) SR@EH F FHER

(2) wREH F Hiferw

(3) TR

(4) Towam
Tﬁq%mﬁaﬂ‘qﬂw%mwﬁm
23 &1 fv=a fFar <@ @ fe3 s
4,500 71 e a1 g% ufe 39% veet ol
% ford =t Tfe @ 125% §1 w0
aﬂ?%:

(1) ¥ 30,000

(2) ¥ 32,000

(3) T 24,000

(4) T 18,000

47.

48.

49.

Six persons are sitting in a rowW In such a

wav that A is to the east of D and west of
' ght of Zwho is to the right

B, L is to the ri £
of W. W is not on any extreme position,

Who are on either side of B?
(1) AandL
(2) Zand A
(3) Land W

(4) Aand W

Following Mahatma Gandhi, who
launched ‘Kheda Satyagraha’ in 1918 ?

(1) Mill Workers
(2) Mill Owners
(3) Landlords

(4) Peasants

Rashmi decided to donate 15% of her salary
to an orphanage. On the day of donation
she changed her mind and donated 2 4,500

which is 125% of what she had decided
earlier. Rashmi's salary i ;

(1) % 30,000
(2) T 32,000
(3) T 24,000

(4) T 18,000



50.

51.

52.

53.

8 3o w1 4 Foral 5% 0w w6 e i g
FHa &1 IR THE FE T G a5
fem % IR 4 TR0 99 T | I TM w4
feral o % | T ameet, 2 ferdi & e
fea & @™ ®IW 1 FE gE gy
(fei )

1) 8fA
(2) s5fe
@) afz
@ 9fs=

aftaor veg | E-T9 & 3y ¥

(1) FHad fomw duge oimfa wo
() FHEREd IR TS Srfa 7HR
@) FER TR O dArfa A9

(1) FHR fo=m T Arfa 7=

e fam & W e @Y =
1 IqF Fmmo (fafeen feama) it @
Tl

(1) e

) Fhm afe (enffefaaa w=fasa)
(3) geA YTt (WEsh TEFe)
4) TR BEAEEE

ﬁﬁﬁﬁqmmﬁmmt@ﬁ%
W E?

(1) feoei @R
(2) wEME FER
(3) TRAU FER
4) T @ fas g

50.

51.

52.

53.

8 men and 4 women together can complete
a piece of work in 6 days. They started
working together.  After 2 days
4 men left and 4 new women joined. The
work done by a man in one day is double
the work done by a woman in one day.
The work will be completed in :

(1) 8 days
(2) 5 days
(3) 4 days
(4) 9 days

What does the acronym CD-ROM stands
for ?
(1) Compactable Disk Rewrite Only
Memory

Compactable Data Read Only
Memory

Compact Data Read Only Memory

Compact Disk Read Only Memory

)
(4)
__________ is the science revolving
around building devices on an extremely

small scale.

(1) Nanotechnology

(2) Artificial Intelligence
(3) Microtechnology

(4) Computer Forensics

Which of the following state governments
has proposed to form “Swachh Bal Senas”
to maintain cleanliness recently ?

(1)
(2)
(3)
(4)

Delhi government
Chandigarh government
Puducherry government
Daman and Diu government



54.

55,

56.

57.

oo% @4 ‘TEY e feam' few fer wn
A& ?

(1) 14 fadst

(2) 14 3=

(3) 14 FARH

(4) 14 F9

= arrpfa & fovem i &2

1y 21
(2 30
(3) 24
(4) 36

TYEEE & 50.25 F1 ﬁs:emum e
g

(1) 110010.001
(2) 110001.010
(3) 110010.010
(4) 110001.110

W%mmﬁmﬂﬂﬁm’aqﬁ
g2

(1) far

() FAH |

(3) T - HYHER

(4) AT

54.

55.

56.

57.

number 50.25 is

When is the ‘National Hindi Diwas’

celebrated every year ?
(1) 14 September
(2) 14 August
(3) 14 October

(4) 14 November

How many squares are there in the

following figure ?

1) 21
2) 30
@) 24
@) 36

The bmary representation of dec1mal

(1) 110010.001 -
(2) 110001.010
(3) 110010.010

(4) 110001.110

Which among the following states does

not have bicameral legislature in India ?
(1) Bihar |

(2) Karnataka

(3) Jammu and Kashmir

(4) Madhya Pradesh



58. frq o famredl § @ FEEf4 HeR-T9E 901 | 58, Select the related letter-group from the

given alternatives.

ZXVT : ACEG::RPNL:? 7ZXVT : ACEG : : RPNL: ?
(1) IKMO (1) IKMO
(2) CEGF ~ (2) CEGF
(3) IGEC (3) IGEC
(4) IHGF (4) [HGF

59. TTH | -9 Y&l I ot IS Wehel § 2 59. Which one of the following birds can fly
backwards also ?

(1) ™R . (1) Humming bird
(2) I . (2) Nightingle

(3) whifseen | ' (3) Kingfisher

(4) T (4) Sparrow

60. TH TH - THHS e oigedar 3 FifeH | 60. In MS-EXCEL spreadsheet software, cells

A1, B1 3t C1# %99 g4 2, 3 3R 4 e A1, Bl and C1 contain the values 2, 3 and 4
FifsEei A2, B2 @it C2 § FHW: qod | . respectively and cells A2, B2 and C2 contain
5, 6 37 a §1 7€ i 7 f& Hifesw D1 the values 5, 6 and 7 respectively. Also,
FGAR: | suppose that the cell D1 has the formula :
= (A1+C51)/$A$1+B1 = (A1+C8$1)/$A$1+B1

ofe Fifte® D1 8 g F1 ST F A What will be displayed in the cell D2if the
ik Fiftss D2 & T fFa S @ e formula in cell D1 is copied and then

D2 ¥ 41 Wefvid g ? pasted to cell D2 ?
(1) 125 * oy s
(2) 105 (2) 10.5
3) 115 (3) 115
4) 135 4) 135



61.

62.

63.

T - 111
sfvssfira srEed - ¥ fagr W
i §1

(1) 3@ o=

(2) i fEm

(@) HTE R

(_4) =1.d. =M

AT (A) : Tagr sifinm, FHamma sfum &

@an%lt :

T (R) : ST TR giE g %
9§ Hafyd g g |

ITE S FUAHI F Hed ¥, fa=ifera § @ =0
TF & 8 ?

(1) 2 (A) iR (R) W6 ¥ |

(2) 2l (A) ¥ (R) W& & T (R) T
(A) 1 TEl = Th §

(3) & (A) T T |

(4) 2 (A) 3R (R) W E T (R), (A) F
Tl ST |

Frrifrd 6 @ @ VA FE F T

Hahe | Heifed §7

(1) wea™ a4M YfFe Tt

2) fayam =am sfavam™

(3) T oM Y 3R v

(4) R AW STy Ay

61.

62.

63.

PART - III

Programmed instruction is based on the
theory of :

(1) Albert Bandura
(2)
(3)
(4)

Jean Piaget
B.F. Skinner
B.S. Bloom

Principle learning is an
important aspect of
i the

Assertion (A) :

learning mn
classroom.

Reason (R):  Transfer of learning is

always associated with
knowledge of principles.

In the context of the two statements,
which one of the following is correct ?

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are correct, but (R)
is not a correct explanation of (A).

(3)
(4)

Only (A) is correct.

Both (A) and (R) are correct and (R)
is the correct explanation of (A).

Which of the following is a psychological

crisis associated with the stage of
Infancy ? |

(1)
(2)
(3)
(4)

Identity v/s Role confusion
Trust v/s Mistrust

Autonomy v/s Shame and doubt
Initiative v/s Guilt



et NS e e w1 Hefda #a | 4. Constructivist perspective refers to

€ learning as :
(1) = e g (1) Information stored in child’s memory
_ (2) forhrames draar | (2) Developmental ability
(3) T A AR S W § (3) Probability of occurrfng a behaviour
(4) o7gva gr fafda woea | (4) Interpretation constructed f;om
experience

65. U Tyt qremr st ®9@n § Feifea o 9 65. In the blue print of an achievement test,

ibdii mﬁh T e 2 which of the following aspects is not clearly
' visible ?
(1) T il v | (1) Content of items
(2) v w7 (2) Objective of items
(3) Wl w1 FEAR T (3)  Difficulty level of items
(4) T H TER (4)  Form of questions
66. ‘GPIFTH ﬁ?ﬂﬁq F deof ® et ww g 66.  Choose the c;):rect sequence in the context
| _ ' of institutional planning.
| L, (@ ffeafs faveraw | (a) Situational analysis
(b) ifeer S AETE HEIE B WIS (b) Organising material and human
| | _ resources
(cj 3e¥d a9 HAl (c) Setting goals
(d) HAF (d) Evaluation
(e) @I &I | (e) Implementation
(1) (@), (©, b)) 3R (d) (1) (a), (). (b), (e) and (d)
2) ), (9, (a), (d) 3R (e) (2) (b), (¢) (a), (d) and (e)
(3)  (®) () @) (e) I () (3 (®) (), @) (e) and (d)

4) () (@), (b), (e) 3R (d) (4)  (c) (@), (b), (e) and (d)
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Weekly and monthly tests conducted by

the teacher are an example of :

(1) Comprehensive evaluation

(2) Assessment of learning

(3) Assessment for learning

(4) Assessment of child’s subject
knowledge

i D purposefully draws together
skills, attitudes and values from within or
across subject areas to develop a more
powerful understanding of key ideas ;
components are connected in meaningful
ways”. Here, the curriculum approach
referred to is :

(1) Integrated approach
(2)
(3)
(4)

Spiral approach
Concentric approach

Interdisciplinary approach

One of the followiﬁg is not considered as
the quality of a good test. Identify.

(1) Reliability

(2) Replaceability
(3)  Usability

(4) Objectivity

For an efficient and durable learning, the
learner should have :

(1)  Ability to learn

(2) Opportunity to learn
(3)  Ability to understand
(4)

Motivation and ability for retention
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As a principal, which of the following
teachers, will you appteciate the most ?

(1)

The one who takes one’s classes as
per schedule, prepares all reports,
results'and documents in time.

The one who never asks for leave
throughout the year.

The one who always comes to you

to demand newer devices,

equipments and books for teaching.

The one who has pleasant habits and
is most social with you and one’s

colleagues.

Which of the following is not an objective
of grading system in the interpretation of
scholastic achievement ?

1)

(2)

(3)

(4)

Better comparability among and
within subjects

Greater internal coherence in the
choice of the subjects by students

Increasing the validity of the
scholastic achievement tests

Uniformity of evaluation in different

‘institutions

Teachers are using teaching aids :

(1)
(2)
)
(4)

to minimize time of teaching
for making the class fun filled
for increasing students’ attention

to teach within the understanding
level of students
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As an administrator,

various
qualities, except one.

a principal wil] K
combinations of the ff’“owing
Identify the og4

combination.

(1)

(2)

(3)

4)

Educational vision, constructiye
attitude, faith in fellow teachers,

Planning, expertise in all subjects,
constructive attitude.

Liaison officer, organizing capacity

and constructive attitude.

Educational vision, organizing
capacity, Liaison officer.

The students of a class and their parents

are not accepting a teacher. What will you

do as a principal ?

a

()

. (3)

Take disciplinary action against the
students and that teacher.

Ask the teacher to change his/her
methodolog}? and approach in
dealing with the students.

Discuss the matter with the students,
parents and teacher(s) individually

and in groups to arrive at the root
cause of the problem,

Discuss the matter in a staff meeting
and take a decision,
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Learner self assessment includes which of
the following combinations ?

(a) Setting target as part of action

planning
(b) Peer assessment in a lesson

() Checking one’s own work and
setting a target to improve

(d) Regular marking of homework
Combinations :

(1) (a) and (d) are correct.

(2) (a) and (c) are correct.

(3) (a), (b) and (c) are correct.

(4)  (b), (c) and (d) are correct.

Which of the following does not belong to
the learning paradigms ?

(1)  Structuralism
(2) Social constructivism
(3) Behaviourism

(4) Humanism

In 2009, the Government of India
implemented the right of children to free
and compulsory education with an
objective of :

(1)  Fulfilling constitutional obligation

(2) Developing quality manpower in the
country

(3) Getting political leverage over
opposition political parties

(4) Abolishing child labour in the
country
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Choose the best sequence that ensy e,

educational ri

ghts of the child at secondary,

school level :

()
(b)

(©)

(d)

(1)
(2)
(3)
4)

Making legal provisions
Strong monitoring system to check
child rights violation

Conducting training programmes

for teachers and principals on chilg

rights
Holding seminars, conferences and

workshops on this issue

(), (©), (b) and (a)
(), (), (a) and (b)
(@), (), (d) and (b)
(@), (d), (c) and (b)

Which of the following school principals
will emerge as a good educational

leader ?

(1) A very social person with pleasing
habits.

(2) An experienced teacher having a
degree in leadership from a top
foreign unuversity.

(3) A throughout topper and a
meritorious academician,

(4) A teacher whose class results are

excellent, is a hard task master and
yet popular among students and
teachers.
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Gandhiji was very much against the use
of text books. The basic reason for this
could have been :

(1) Learning through text books takes
too much of time.

(2) The text books act as a barrier in the
development of creativity of both
teachers and students.

(3) Learners have to mug up the
contents of the text books.

(4) Text books can be helpful only after

the mastery of language.

A lesson includes a plan of activity which
supports a teacher :

(1) to help the students to understand
and remember the content.

to provide practice, guidance and
feedback to the students

to guide the students what they
should accomplish by completing
the learning experience

to maintain the attention of the
students

(2)

)

(4)

Which one of the following will prove to

be a better principal ?

(1) The one who cleans the floor of the
class involving all students and
‘teachers
The one who convinces one’s
teachers to get involved in floor

- cleaning exercise along with their
students
The one who employs the best floor
cleaning agency for the task
The one who strictly orders and
monitors the floor cleaning task and
then reinforces through rewards and

(2)

(3)

(4)

punishments
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85.
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Critical pedagogy is associated wigy, .

(1) Robert Gagne
(2) Paulo Freire
(3) Lev Vygotsky
(4) Jerome Bruner

To implement the NCF - 2005 in its tr,,
spirit, what will be your sequentiy

priorities as a school principal ?

(a) Reviewing learning  materig
including text books

(b) Changing the seating arrangemen
of learners in the class

(c) Calling a meeting of staff members

(d) Deciding pedagogic strategies

(e) Calling a meeting of all stakeholders

(f) Constituting an implementation and
monitoring committee

(1) () (e), (d), (@), (b) and (f)
(2 (0 (e), (d), (f), (a) and (b)
(3) (©) (o), (d), (), (b) and (a)
4) (@), (©) (o), (d), (b) and (f)

What is the purpose behind organising co-

curricular activities ?

(1) Co-curricular activities are part of
curriculum only.

(2) Co-curricular activities give a chance
to school to get a name and fame.

(3) Co-curricular activities help in
overall development of learners.

(4) Co-curricular activities are part of
National Policy of Education.
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[nstitutional planning means :

(1) Creating institutions based on the
planned goals

Conducting SWOT analysis while
planning at institutional level
Planning at institutional level, on the
basis of felt needs and available
resources

Conducting seminars and planning
meetings to improve the functioning

(2)

@)

4)

of any institution

e refers to higher order
thinking which involves active control over
the cognitive process engaged in learning.”
Identify the process referred to.

(1) Critical thinking

(2) Problem solving

(3) Process skill

(4) Meta cognition

According to NCF-2005 the nature of
knowledge is considered as :

(1) Dynamic and relative

(2) Permanent

(3) Only dynamic

(4) Only relative

Which of the following subjects will you

lay emphasis on, for the betterment of your

learners ?

(1) English, Mathematics and Science

(2) Computer and professional subjects
like Commerce and Tourism

(3) Social Sciences, Humanities, Music

and Fine Arts

(4) All subjects. No subject is less
important than the other
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Maximum time allowed for extension of
suspension at a time by the Review ¢

Committee is :
(1) 90 Days
(2) 365 Days
(3) 180 Days
(4) 730 Days

As per the provisions contained in the
CCS (conduct) Rules, 1964, which of the
following can be covered under the

definition of dowry ?

(a) A property

(b) A valuable security

(c) Streedhanam, among the Christians

(d) Dowar or Mahar to persons to whom
Muslim Personal Law applies

Use the following codes to give the correct

answer

(1) (a), (b) and (c) only
(2) (d), (b) and (c) only
(3) (a), (c) and (d) only
(4) (a), (b) and (d) only

What is the revised rate of annual
increment w.e.f. 1.1.2006 in respect of
central government employees in PB-I and
PB-II ?

1) 1%
2) 5%
3) 3%
4) 7%
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@

Suspension may be desirable in the
circumstances indicated below :

(a)

Any offence or conduct involving
moral turpitude

(b) Desertion of duty

Which of the above is/are correct ?
(1) Only (a)

(2) Neither (a)nor (b)

(3) Only (b)

(4) Both (a) and (b)

What is the time limit for preferring claims
for reimbursement of medical expenses in
respect of a particular spell of iliness under
the Central Services (Medical Attendance)
Rules?

One Month
Three Months
Two Months
Six Months

(2)
(3)
4)

the

Prior permission/sanction of
prescribed authority is necessary.
(@) To join an educational institution or
a course of studies for a university
degree.

(b) To seek redressal in courts of law or
central Administrative Tribunals of
grievance arising out of employment

or conditions of service.

Which of the above is correct ?

(1)  Only (a)

(2) Neither (a) nor (b)
(3) Only (b)

(4) Both (a) and (b)
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What percentag® s Valyg
of

t out property can be Claimed
dy

Zelsuclion under section 24 L7,
Act ?

(1) 25%

(2) 33%

(3) 30%

(4) 40%

Which one of the following is correct ;,

the context of admissibility of transpopy

allowance ? R

(1) No transport allowance'wherea
tour covers full calendar month

(2) Half of the transport allowanc
where tour covers half of the fy|l
calendar month

(3)  One third of the transport allowance
where tour covers two thirds of a full
calendar month

(4) Two thirds of the transport
allowance where tour covers one
third of the full calendar month

In the context of SupplEmentar)' Rules,

which of the following charges are not

reimbursable ?

(1) Tatkal Seva Charges

(2) Conveyance charges for collection o
tickets

(3) Service tax and education ces?
charges

(4)  Service charges for booking of ticke®
on L.T.C.
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Which of the following activity is
permitted to a Government servant under
CCS (conduct) Rules ?

(1)

Acting as election agent of a
Lok Sabha candidate.

(2)

Proposing the nomination of an
assembly candidate.

(3)
4)

Taking part in political movement.

To exercise his right to vote in an
election.

Which was the year when the Service Tax

was imposed for the first time through
Finance Act ?

(1) 1990
2) 1994
(3) 1992
(4) 1996

What is the rail/air fare entitlement of a
government servant who travels in his
own car sent under its own propulsion ?

(1) Full fare
(2) 50% of the fare
(3) No fare
(4) 25% of the fare

What is the amount of deduction allowed
for interest from savings bank account ?

(1) % 15,000
2) % 5,000
(3) % 10,000
(4) % 20,000



104. What s the extent of absence requireq fro

104. of #frer v 24 & & ferd gome ¥ e the headquarters to be entitled to fy) dail.i.
o SR S W allowance ? "
. ' (1) Less than 12 hours
(1) 1297} FH (2) More than 18 hours
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(i (s it (4) More than 24 hours
() 24 W92 9§ IAferm
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106. SN W A6 91 F AR F1 FAEEH, a60 0 | 106. Within how many days of completion of
FH G IR HI GHING W Gl ggl W tour of an officer or on rejoining duty if he
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(1) 30 few (1) 30 days
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(3) 45 feTw (3) 45 days
4) 15 feam (4) 15 days

107. fr=fafaa § € &9 3 w4, R T F& | 107. Which of the following are the acts,
=14 fafae Tar (=) e 3 st conduct and commissions which amount

ST O 9§ 2 to misconduct under CCS(conduct)
Rules ?
(1) wvel feag gug § wm o) (1) To participate in flag day collections.
(2) e faera Sufefy (2) Habitual late attendance.
(3) vifern @a Frl & v e (3) To participate in sports activities as
) an amateur,
4) oA Fret § TF F YERA T (4)  To publish a book in discharge of

duties,




108. T nfafafy & fag @R =1 19970 stavgs

109.

110.

TEH 7?2

(1) =i gren dar § afmfed g

(2) TEE FrEHRIFAE WA WASE F fag
YF TR % 1 H 9

(3) ‘NG Haw wHN' BN HAe ' amer!
H 9T o

(4) ® Y& ey § wimted g

faumt w@ gr fea 99 v @ 5

iHfd g1 I8 3R W 91 HT FE F
foru wmm= fa<da fammee, 2005%;31%
fryuif i s &2

¥ 5,000 ¥ e wd T 25,000 T
% 15,000 ¥ 3fyss & T 1,00,000 76
(3) 10,000 ¥ Afer T T 50,000 TF
(4) T20,000 ¥ 31f wd % 1,50,000 TH
7% <Y foF 98 FA-91 999 A ¢ oHe
S a1 et % ST T o e
%1 9% Heed 91 Wl § foh 98 HHEr i Hal
feet 1 FafRa H¢ T IH! e da
yoiford o |

(1) 2539 d & =1 a1 frafa & o o
S off FH B

(1)
(2)

503 ad & =1 Fan Frgfa & of= a4 G,
St FE A

(2)

30 ad % 71 g firgfin & o= 9d T,
St oft FH A

(3)

153 34 & 71 g frgfal & o= = 7,
it FH A

(4)

108.

109.

110.

Which of the following activities does not
require permission of the Government ?
(1)  To join Civil Defence Service

(2) To participate in the fund raising
efforts of the National Foundation
for Communal Harmony

To participate in ‘Shramdan’
organised by the ‘Bharat Sewak
Samaj’

To join Home Guards Organisation.

3)

(4)
What is the limit prescribed in the General
Financial Rules, 2005 for purchase of
goods on each occasion by a Local
Purchase Committee consisting of three
members as constituted by the Head of
Department ?

(1) Above ¥ 5,000 and upto I 25,000
(2) Above T 15,000 and upto < 1,00,000
(3) Above T 10,000 and upto X 50,000
(4) Above T 20,000 and upto T 1,50,000

Indicate the period during which the
service book of an employee is required to
be completed and certified in respect of
previous service by the officers who
maintain it.

(1) In the 25" year of service or 5 years
before the retirement, whichever is
less

(2) In the 20'" year of service or 5 years
before the retirement, whichever is

less

(3) In the 30' year of service or 5 years
before the retirement, whichever is
less

(4) In the 15' year of service or 5 years

before the retirement, whichever is
less



111. mrammﬁmmam&amﬁ:
foru ot S AT FEEE W ®1 @ H Sd

Cad

(1) ¥ HH AEEE wiE F 3 O

(2) I TIEHEY HE & 6 TN

(3) WHH REY B &0 4 T

(4) VI AEEE HE w10 T

T2 A Reaam i Sqerea e €, QK
(1) offa swm

2) oy TEvE s

(3) ITEHFEFH TgFEW

(4) wfesfi ggi

112.

113.
AR F R T E?

(1) To1 3 1 10% o1 TEME el
(2) e A F12% T HEME Al
(3) WE A w110% Hael
(4) A FaT H112% Faa

114.
I fare e 29 2
(1) %F9d 9ER & Feei H
(2) Faw frefaa sd=rt &
(3) FHIRI ¥Hd 9REr # fwdt a1 T8

(4) Ui 9RER =, feifaq wH=r afea

115. amgHT Afufagq/fAaqmEdt & s=qa7q
frefofas 7 9 @0 907 & &R 4 78 =7

T Yy dremT % srnta SR FHER &

afs ©F FHE freifaa € @ fo § @ g

111.

112,

113.

114.

115.

e rate of licence fee charged for

Indicate th
f a government

out of turn allotment O
quarter allotted to a Govt. servant,
3 times of normal licence fee

(1)

(2) 6 times of normal licence fee
(3) 4 times of normal licence fee
(4) 10 times of normal licence fee

LTC cannot be availed during :
(1) Earned Leave
(2) Child Care Leave
(3) Casual Leave
(4) Restricted Holiday
What is the rate at which a Government
servant is required to make a contribution
under the New Pension Scheme ?
(1) 10% of his basic pay plus D.A.
(2) 12% of his basic pay plus D.A.
(3) Only 10% of his basic pay
(4) Only 12% of his basic pay
To whom is LTC admissible if an official is
under suspension ? _
(1) Family members only
(2) Suspended official only
(3) None of the family members
including the official '
(4) Entire family, including the
suspended official
Which of the following is not treated as
- part of the salary as per Income Tax Act/
Rules ?
(1) Overtime Allowance
(2) Leave salary
(3) Travelling Allowance grahted on
transfer/ tour
(4) House Rent



116. TF F= WHR & FHART & Fw=y 5§,

117.

118.

119,

Fefefas § @ s @ faeo @@ §2

(a) ﬂmﬁqﬁa&wm@mawmg

ffea &, s ame & soet gt &1 7 5y

(b) s F e e Fafed T ¥
(1) %= (a)

() () (b) 3

(3) = (b)

4) T (a) 7 (b)

e 7l & srnia et yanr it s gfeat
< W  sfers e fruifa ¥ 2
(1) 339

2 794

3) 594

4) 10 T4

freafafas @ @ 1 wwiemed @t g
¥ forg == o At |@ey wdl @ feem
THE?

(1) 3¥Ei =1 Hfara faao

(2) G

(3) fFd 9 a1 HE S w9

(4) Frd gol T g

96 o1 T 3 aTel YA i oh fehert SAffier
Y 2 Bt 2

(1) ¥ 99 F150%

(2) He 9IA F100%

(3) W@ YA H80%

4) ¥ Y F75%

116.

137,

118.

119.

Which of the following statements is
correct in the context of a Central Govt.
Servant ?
(a) Duty
probationer or apprentice provided
that such service is followed by

includes service as a

confirmation.
(b) Duty does not include joining time.
(1) only (a)
(2) Both (a) and (b)
(3) only (b)
(4) Neither (a) nor (b)

What is the maximum limit prescribed
under Fundamental Rules for grant of
leave of any kind for a continuous

period ?
(1)
(2)
)
4)

Which of the following is not part of Terms

3 years
7 years
5 years
10 years

of Reference (TOR) to be prepared for
hiring of consultants ?

(1)
(2)
(3)
(4)

What is the rate of additional Pension

Precise statement of objectives
Schedule of Rates

Outline of the tasks to be carried out
Schedule for completion of tasks

payable to a 96 years old pensioner ?
(1)
(2)
(3)
(4)

50% of basic pension
100% of basic pension
80% of basic pension
75% of basic pension



120. ﬁaﬁmﬁaﬁw‘a’aﬁmﬁmﬁa‘
Frafer & forad wwa & ot @@l @ T

SR W W A AR fer
S FehaT § 2
(1) =Y
(2) J=d
(3) o ad
4) TEad

121. =19 Fan (fafean softafa) faame &
3=ria uftar 9 fed wnfiaer =&1 foran wman ?

(1) 25aﬁfémang%raﬂwmgﬂ

(2) Hra-foar
(3) U A
(4) I Vi

122. HEd 99@ gR1 et F51d TWHR & FHAr
1 Harf1gia ¥ fa 99 78 999 F ST
geafya o Sfusrt @ 99 9 § 2

1) ¥afgfaa29d @
) Farfa &6 wE g
(3) ety 418 #TE 7o
(4) Farfrgfa | o i 7

120.

121.

122.

What is the minimum period af,
retirement during which a retired Cengyy
Service Group A officer can take up
commercial employment only afte,

obtaining previous sanction of the

Government ?

(1) Five years
(2) Two years
(3) Three Years

(4) One year

Who among the following is not included
in family in accordance with Central
Services (M.A.) Rules ?

(1) Unemployed son below 25 years of
age

(2) Parents
(3) Unemployed Daughter
4) Majdr brother

At what stage before his retirement, are
the pension papers of a Central
Government Servant required to be sent
by the Head of Office to the Concerned
Accounts Officer ?

(1) 2 years before his retirement
(2) 6 months before his retirement
(3) 18 months before his retirement

(4) One year before his retirement



123. 3T Tehr & Ted At e F ww

124.

125.

- 126.

W1 R g2 &t dm g &2

(1)
()
)
(4)

%[ fatan yw =1 arafas afy
TS e T

HHM fmman @ & 50% 1 T q
HHH fortran & F 20% F @ Y

&R/ FIRTETVT/ STeed TR W T Y
AR o 3 g wem 180 i @ fven
e 2

(1) TRR

(2) ¥ W

(3) -S| W

4) TH-I9E AW

RO F IT HH HI T Jv9 frad
W % YN TETE i ol € ?

8 ad
15 99
12 99
20 99

1)
(2)
(3)
(4)

W4 faret sifrsrl #1 F519 TR g Wipd
Yt sy o WiarTgaa ot sl € d 98
e fory 711 T @ g QA @ W
Tl &2

(1) 90 fea

(2) 60 f&

@) 75 fe=

(4) 45 fem

123. To what extent is the HRA received by an

124,

125.

126.

employee living in his own house exempt
from Income Tax ?
(1) Actual amount of HRA received

(2)
(3)
(4)

No exemption
50% of HRA received
20% of HRA received

How much D.A. is admissible for the first
180 days of continuous halt at a station
on tour/temporary transfer/training ?

(1)
(2)
(3)
(4)

Full rate
Half the rate
Three-fourth rate

One-fourth rate

After reduction of pension on account of
commutation becomes operative, what is
the time frame prescribed after which
commuted pension is restored ?

(1) 8 years

(2) 15 years
(3) 12 years
(4) 20 years

What is the prescribed period beyond
which a vacancy caused by the deputation
of an officer to a Central Government
approved training programme may be
filled in the normal manner ?

(1) 90 days
(2) 60 days
(3) 75 days
(4) 45 days



127. Qq dreft =rmen & sty frefafed 3 9
HHFTA: 1 AeAt-Werg = ym g e & 7

(1) sfee

(2) fafire w qoiat fammm

(3) OHTR T @

@) T

128. Fr=fafaa § w1 oy qve 48 &2

(1) f&=

(2) oifard dan frgfa

(3) TRt HHTR gRT H1 T IUET AU
Y {7 & FeEaeq R Hi IH
THAF AR W aeT § F qU S
HifTH et

(4) ITE= IE @ TG AT § T T
1 o ger

129. 9 fadra faamEet, 2005 % = 136 F
a7=ifa f=ifra 8 9 9 91 9% ‘9’ | fafeq

TE?

(1) &= HE

(2) AR

(3) @ & fog T

(4)

LRIER

127. Which of the following does not NOrmg
\-

128.

129,

form part of the Bidding documep,

‘nd er

a two bid system ?

(1)
(2)
(3)
(4)

Conditions of contract
Specifications and technica] detaj,
Contractor’s Ledger

Price Schedule

Which of the following is not a min,

penalty ?

(1)
(2)
©)

4)

Censure

Compulsory retirement

Recovery from pay of the whole o
part of any pecuniary loss to
Government caused by the official's
negligence or breach of orders.

Reduction to a lower stage in the
time scale of pay by one stage
without cumulative effect.

Which of the following is not categorised
as ‘goods’ in terms of the provisions
contained in Rule 136 of General Financial
Rules, 2005 ?

(1)
(2)
(3)
(4)

Material
Furniture
Books for a library

Machinery



130. F=irg fafae Jael & o9 91’ & fhg oy

131.

132.

133,

T F stfymifE) #t YRa 9ER gR St
fafsean it waré s waet &2

35 94 § FW
45 99 ¥ SR
(3) 4099 | TR
(4) 5094 q FHW
Tfeel UF et ey 9 359 WHi % 99
Td W & g T % fore S Sl sgawen
& A HH-T S SNera] I F T E

(1)
(2)

THATHRT S
faera et
Fiftrfsaes e

(a)
(b)
(<)

(a) Td (b)

(b) T (c)

) (@) T (c)

4) T 9 T

Ay i & forat goaEfy § ardeiy

vl & 9, STeY & favg oTdie &t o
Thdl §2

(1)
(2)

30 f&
60 fe
3) 45f=
4) 90 fem

Frfafes & 8 g sd=@ g7 99
-3 aftn ol g €2

(1)
(2)

(1) oftges s

Q) g am e

() swEm

@) w1 wRiviEd Ted

130.

131.

32,

133.

What is the age above which the Group A
Officers of the Central Civil Services
are Covered for Annual Medical
Examination ?

1)
(2)
(3)
(4)
For purchase of high value plant,
machinery etc. of a complex and technical
nature, which of the followings bids are
obtained under two bid system ?

(a) Technical Bid

(b) Financial Bid

(c)

35 years and above
45 years and above
40 years and above
50 years and above

Commercial Bid

(1)
(2)
(3)
(4)
Within how much period of the receipt of

the order appealed against, an appeal has

to be preferred to the Appellate
Authority ?

(1) 30 Days
(2) 60 Days
(3) 45 Days
(4) 90 Days

Which of the following received by a

Government Servant is not fully exempt
from Income Tax ? '

(1)
(2)
(3)
(4)

(a) and (b)
(b) and (c)
(a) and (c)
None of these

Transport Allowance
Leave Travel Concession
Gratuity,

Commuted Value of Pension



134, ﬁmﬁmwﬁﬁaﬁ?ﬁuﬁ
‘T T A BT T S © 2

(1) fawnia st ¥ qof em9 3R F
FoaEed 9T W

(@) e sty ¥ R wHE # T

(3) & =Y gve fear s
(4) 39 SO A ol frere qofaar =y
& |/ S

135. 10 791 ¥ fers Tar qof & g AU
3 fi St T & A % for R
fFuifta e & -

(1) 5
2 2%
(3) 3w
@4 19

136, frerfafas § & foa vy & fag war
FHER YRMYHR & @ Fhdl ?
(1) v s favria (fadw) da ||
(2 EGERE
(3) e kel WuTE @ ST Hal/ et ¥
T T T A |

4) & free W

137. =1 faa @d 2016-17 % o R 4mg qa1 &
oo # faat gfowd 1 X O W 79

TR 3T &7

(1) 10.3%
2 15%
(3) 12.36%
(4) 18%

135.

136.

137.

suspensiont is treated as non-duty -

(1) On reinstatement due to fu
exoneration in departmental
proceedings:

(2) When official’s death occurs while

under suspension:
(3) When minor penalty i5 awarded.
(4) In cases where suspension is not
considered wholly unjustified.

Fixed tenure prescribed for officers with

more than 10 years of service for serving

in the North-Eastern states 1S :

(1) 5 years
(2) 2 years
(3) 3 years
(4) 1 year

In which of the following cases does a

Government Servant not retain lien ?

(1) While on foreign service

(2) While on leave

(3) While proceeding on immediate
absorption basis to a post outside his
service/cadre

(4) While under suspension

What is the rate at which service tax,
including cess, is chargeable on the value

of taxable service during the current
financial year 2016-17 ?

(1) 10.3%
2) 15%
(3) 12.36%
4) 18%



138.

139.

140.

Wieo®s Fafrgia e =1 g £

(1) 10 =d

(2) 20 d

() 1594

(4) 123d

TH WHER FHA B I RV W F@re,

e 20 fv o, | 1fes T8 W aiframd g

qftada & =it feafa § afnfem

TR SEH <3 §

(1) Ui o< 909 U@ U< a9 & s

(2) T IO wE T A W Q FerR F
T

@) %= I w@ IT I ¥ @& feE w
TR

(4) T off oM <3 T &

(@) & TAHYS Tl TATRYEl AT Sifad
St Weft & 7 8 a9 | g faar &
foaw smmfa #t savaswa T8 g |

wF TE wHER! g fEe fae
arifir A faae & 927 @ TWER &)
gfea & sfrard 7@ €

(b)

Ia § @ Fera fafaq dan (=)
fipermTarehi, 1064 % ST, 1 WE TG € 2

(1) %4 (a)
2) (a) T (b) T
(3) %ad (b)

4 F@7[D)

138.

139.

140.

A Government servant may seek voluntary
retirement after completion of how much
Qualifying service ?

(1)
(2)
(3)
(4)

10 years
20 years
15 years

12 years

- _ composite transfer grant is
admissible to a Govt. Servant with
compulsory change of residence at the
same station involving distance of more

than 20 kms.

(1)  Equal to full band pay plus grade pay

(2) Equal to two - thirds of band pay plus
grade pay

(3) Equal to one - third of band pay plus
grade pay

(4) No grant is payable

(@) A divorcee need not seek permission
to contract a second marriage with
a divorcee or a person having no
living spouse.

(b) When a Government servant gets

married to a foreign national, the
fact is not required to be intimated
to the Government.

Which of the above is incorrect as per
CCS (conduct) Rules, 1964 ?

(1)  Only (a)

(2) Both (a) and (b)
(3) Only (b)

(4) Neither (a) nor (b)



141. sRipE Sensh, w@mm gensd, as
Trergfea, < T g g @ , ST
Freft weanall § s famir (fordw) ¥ F
fora =1 Sferaw e favifa &2

(1) TR A 3 i v i F A

5 o
(2) T AR H 7 9 @ [l d F@ A
9 a4
(3) @ AR A 5 99 ©@ qol e FE §
7 94
@) % AR § 9 99 wd ol a1 FA A
12 d
142. Frefafas § ¥ s=a fafaa |@a1 (CCA)
framrach & 3T=ia gUE T &
(1) =amE
) Hfge 3@ gfe |WIH
@) f=
(4) = 9@ 7 A g
143, @ HHaE F1 9 &1 fafg 1 = H |
1 97 11§ 7
(1) ¥ T
) @ fgaq
(3) fafeen ggt
4) 3 E A FB T

141.

142.

143.

¢ the maximum period prescripeg

What i '
vice to an Internationq)

for foreign Se¥
Organisation and Autonomous body,

trust, society etc. not controlled by

Government or @ private body ?

(1) 3years in one stretch and 5 years in
entire career.
7 years in ON€ stretch and 9 years in
entire career. -

5 years in one stretch and 7 years in
entire career.

(4) 9 years in one stretch and 12 years

in entire career.

Which of the following is not a punishment
under CCS(CCA) Rules ?

(1) Warning

(2) Withholding of future increments
(3)
(4)

Censure

Reduction to a lower time scale

How is the date of death of a Government
Servant treated as ?

Non-duty
(2) Working da}r
Medical Leave

None of these



144. I T WA DTG A FEE T

145.

146.

HHERT 1 I Y F I T

(1) = 7 v T

(2) 4 I v

(3) ol 3T v
(4) Uw-foerE g v

fee s 8 @ - ot T
g2

(1) W

(2-)I | CGHS sfiem

(3) wfasr ffy sivemA

(4) TR Rl waq F1 aEad e
o2t A faed W e e # gfem #
Al TR :

(1) LTC-80 @4 & 3F=ria

(2) TR sfved F &4 9ed |

@) frelt A = A

144,

145,

146.

What is the entitlement of T.A. to an
employee who resigns from the Central

Govt. ?

(1) No T.A.

(2) Half T.A.

(3) Full TA.

(4) One-third T.A.

Which of the following recoveries is not

permissible from the subsistence

allowance ?

Income Tax

(1)
(2) CGHS contribution
(3) GPF subscription

Licence Fee of Government
Residential Building

(4)

Booking of Air Tickets on LTC is not
permitted :

(1) under LTC-80 Scheme

(2)

from web portal of Air India

3)

from private travel agents

(4)

from web portal of Ashoka Travels



147. What is the extent of taxable income o -

147. 819§ & v 49 vinft = et 3@ T T . rcon
| 379 o Bt € 2 81 year old pensioner, which is filly
| exempt from income tax ?

(1) upto Z 2,50,000

(2) wupto
(3) upto Z 3,00,000

(1) ¥ 2,50,000 9
Z 4,00,000

(2) < 4,00,000 TR

(3) ¥ 3,00,000 T
(4) ¥ 5,00,000 T (4) upto ¥ 500,000

When both husband and wife are

148. & ST Gfa-Ush @1 SHRY TF a1 ST | 148.
transferred from one and the same station

VYA ¥ TR & & VYA W 6 A T 3T

SR weft ¥ i ¥ 60 A F 9% B ® to another same station within 6 months

d o weft W § EiaRd g & 9 fhe and after 60 days of the transfer of the

Qg TR0 3TM H1 THaR 7 ? spouse, what is the extent of composite
transfer grant that the spouse transferred
later will get ?

(1) 100% (1) 100%

(2) 50% 2) 50%

(3) 75% (3) 75%

(4) 25% @4) 25%

149. fam =4 ;(');6-17 %aﬁm 4 5;)&000 T F1 | 149. What is the extent of tax rebate that is
el T A =R foraa T F Fe admissible to an individual whose total

JqcTe B 2 i

i income does not exceed ¥ 5,00,000 during
the financial year 2016-17 ?

(1) ¥ 5,000 ' (1) ¥ 5,000

(2) ¥ 15,000 (2) ¥ 15,000

(3) ¥ 10,000 (3) 10,000

4) ¥ 20,000

(4) T 20,000



150. TF TR ‘31" sifvrdt g oved U et

151.

152.

e sl & wurTa SveR @ieE w0 F fg
5% iy sa = T -3 v ¢
1.1 T, (ST Frmreet, 1964 % s,
forat fruffta gog dim &2

% 7,500
T 20,000
T 15,000

< 25,000

el aen faraa gfaw & = & @
WHER FHER F T qa1 w1 d fHem
Ffereran el & fSfa erasmn &1 TGt
AT N Rl & ?

(1) 30 feorg
() 45 feaw
3) 60 feaa
@) 90 fezd

frfofaa d 4 ffg 999 &1 &0 79 9 38
¥ forg o T H1 S ?
(1) fafeen smur & sifaft SR g2t

(2) R fawria (fagw) Fan

(3) @ TEN THY
(4) qEfyd 98 T S T e |

150.

151,

152.

What is the value limit prescribed under

CCS (conduct) Rules, 1964 beyond which
a Group ‘A’ officer is required to report to
the Government for accepting customary
gifts from near relatives and personal
friends having no official dealings with

him ?
(1)
(2)
®)
(4)

Z 7,500
Z 20,000
Z 15,000

T 25,000

What is the maximum period for which
encashment of earned leave for availing
the LTC facility can be done during the
entire career of a Government servant ?

(1)
(2)
(3)
4)

30 days
45 days
60 days

90 days

Which of the following periods does nc
count for increment in a time - scale ?

(1)

Extraordinary leave taken other tha
on medical grounds

(2)
(3)
(4)

Foreign service
Joining time

Entire period of duty in the post



153. fam ad 2016-17 & foauw geft faviftfadl & | 153. During the financial year 2016-17, what

fou feraet &2 9y amg T e | A is the quantum of taxable income which is
€? fully exempt from Income Tax in respect

of all the assessees ?

(1) ¥ 1,50,000 (1) ¥ 1,50,000
() % 2,50,000 (2) ¥ 2,550,000
(3) % 2,00,000 (3) ¥ 2,00,000
(4) ¥ 3,00,000 (4) ¥ 3,00,000

154. 4 (SR) 94 Fa of 4 I foRelt TSR | 154. At what rate will the death gratuity be
FHAR F1 Ja1 F @A g2 9oY F I I payable to the family of a Government

9ER =i ff A g SYSH &F B ? servant, who dies while in service, with 4
. (four) years of service ?

(1) uRefst & o: o (1) 6 times of emoluments
(2) wf@fem & < o (2) 2 times of emoluments
(3) uftaferdi & o= Tom (3) 3 times of emoluments
(4) wRafem & 12 7w (4) 12 times of emoluments

155. T4 WHE | 7 99 91501 A F € §? | 155. What is the date from which New Pension
Scheme has come into operation ?

(1) 1.1.2006 & (1) From 1.1.2006
(2) 1.1.2004 & (2) From 1.1.2004
(3) 1.1.2005 4 (3) From 1.1.2005

(4) 1.1.2003 § (4) From 1.1.2003




156.@waﬁ%mﬁ@mmmq
TG A F F SR Afvram Ty &

o st frn w1 w82
(1) 999 6TE

(2) WYH 3 HE

(3) WU" Ty

(4) Y¥™ Q99

157. F=ra e (fafeen sufeafy) fremmeh,

194 % mia Frefefas & @ fd ofam §
s 9 e § 2

(1) e AR W s e

(2) T o

(3) g o

(4) TAHYR TAl

158. fa=Afafea o 9 o T & fau feget T

&1 71l ? ,
(1) ufiEen w
(2) g Ha W AR | frafad w T

3)

(4)

T SfNe F 9 H, WG @ g
wE ol T ad1 17 i faum F o
F

g GUER | &1 T FA

156. What is the maximum permissible period
for which the Leave Travel concession not
availed during a block of four years can
be carried forward during the next four

vear block ?

157,

158.

(1)
(2)
3)
(4)

first 6 months
first 3 months
first year

first 2 years

Who among the following is treated as a
family member as per CS (MA) Rules,
1944 7

(1)
(2)
)
(4)

Judicially separated wife
Married brother
Married daughter

Divorcee wife

Which of the following does not count
towards Qualifying Service ?

[

(2)

(3)

(4)

On probation.

Temporary service followed by
regular service.

As an apprentice except in the case
of SAS Apprentice in Indian Audit
and Accounts Deptt. and Defence
Accounts Department.

Service rendered in

Government.

State



159, T SrRAE Geil § IHE ST

160.

+O T faerted @ 3% 0 qaE L
opeet aafirene afifen A gl & o Fdl
g2

1 2

Q) 4

B) 3

4) 5

Sita Wi W erarEfE TRt g fhaa
gma § sifqw faofa @ =i ?

(1) 67®E

) 9¥E

(3) 37E

(4) 18 W®

~-00o0-

159. What are the maximum number of

160.

increments that can be awarded to a sports
person in his/her entire career fo,

achieving excellence in national and

tional events ?

interna
1 2
2 4
@ 3
(I

Within how much period Disciplinary
Authority should take final decision on the

Inquiry Report ?

(1) 6 months.

(2) 9 months

(3) 3 months

(4) 18 months
-00o0-




